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1. Evaluate each of the following expressions:

Q.35-(1752)+5 b.24-9 :2+6+3

‘ 2 c.l2[2\+/7)—24+12
—35-|5{-./5 - 2‘-}-"84'10\'.;3 = IZ(Cﬂ-ZLt-}l?_ :
= 35-3 = 24-18+2 ) 108—2¢i+/lz
= [3a] e = 108~
= d - 100
d.4(9-3) +(8-2) 2 26— [(25-11) - 29] f. 5(122—_53—1
2 4(0) % () - 2 =[14-27] 50111
= 24~ 0 =20-[14-6] T
= !’4 l = 20— W
il = 55-1 _ %4 7]
2. Describe the emor in evaluating the expressior: wtggmg. ’ U’7 ) q 'LU—
X 5m+322:ﬁ+3 WMMJMWW

~ 55 59 Arst (drdir of gpurationd).
Conuat Fnswer: 43

3. Evaluate the following expressions whena=10,b =9, and c = 4.

a.q?z-18 b.bc +12.3 c.3a+2b-éc
= 10%) 88 = G4 +12.3 - 300) r 209) -L(H)
=/00- :3(9+12,5 = 30 F18 -24
= 82 | -3 3 N/
4. Given G[;—:b‘:-é, d=3,x=-4,y=0.5, evofuolt—;lf___’hg\;zwing: = _H 21%"’
a. x2 + 3d

b.y(a-2) c.d(x-b]
=(-4)" + 3(3) - 0.5(8-2) =3 (-4 —"lo)
= o+ 1 20.5(() = 5(2)
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5. Bvaluate the following expressions: " RIS S S Faslcs
=~ .
Q. 6(3x - §) - if =4 b.4(8+5x) +2x ifx=2 c.4-8(2-6x) ifx=-]
—18%-30-9 ¥ = 32 +20x +2X =Y+ lo+YB X

_[G5-30 [mr2%x) -[20+48x]
9(4)-30 304 22(2) =20+ 48(7)

n 0244 o] = 24
6. The expression i

+13cis the cost for a adults and ¢ students to enter the science

a. Find the total cost for 4 adults and 24 students.

20(4) + B(29)

b. You figure out the costTor the group, but then the number of adults cnd students in the group both

double. Does the cost double? Explain your answer using an example. The
o adudto —> 8 aocluots 20(83 +13(48) _'2?6; Aoubly
24 Suoerto = 18 adudda L o7 When i Numbay

c. In part A, the number of adults doubles, but the number of students is cut in half. Does the cost
remain the same? Explain why or why not.

770, The ut
4 a.dudko =7 Bodutt 20(p) + BB(24) 110,

| (e0 /2 dete nat remadry
24 Mudento—7 IZW g |

7. Answer the following using the scenario:

You really want to purchase the skateboard shown at the left. Your aunt gives you $45 to start and
you save $3 each week. The expressiorf45 + 3w gives the amount of money you save after w weeks.
Answer the following:

a. How much will you have after 4 weeks? 10 weeks? 20 weeks?

Yo + 3(4) Y55 3(10) Y51 3(20)
HHHIZ. 46130 Y5+ 60
567 £ 75 105

iz _,/f b. What does the 45 represent in the expression? What does the 3w represent?

U5 repradiudn Muvtawrauu w
AW Vepretnty ”“W”’W‘(P"“ Soue Leoh wtak

c. Challenge: After how many weeks will you have enough money? Show how you arrived at your answer.
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